DELAWARE COUNTY COMMISSIONER'S MEETING MONDAY, JUNE 20, 2023 @ 9:03 A.M. COMMISSIONERS COURTROOM 100 W. MAIN ST. ROOM 309A CALL TO ORDER WELCOME PLEDGE TO FLAG

ORIGINAL

ROLL CALL

Mr. Shannon Henry

Mr. James King

Ms. Sherry Riggin

Mr. John Brooke, County Attorney

Mr. Ed Carroll, Auditor

APPROVAL OF MINUTES

MOTION: Commissioner King made a motion to approve June 5, 2023 Commissioner minutes.

SECOND: Commissioner Riggin

YEAS: Commissioner King, Commissioner Riggin, President Henry

PRESENTATION

HEALTH DEPARTMENT FIRST FLOOR RENOVATION

Mr. Jammie Bane, Health Department Administrator, said the Health Board reviewed all bids that had been received and Pridemark Construction was selected. Pridemark Construction was also the lowest bid.

MOTION: Commissioner King made a motion to approve Pridemark Construction for the Health Department renovation.

SECOND: Commissioner Riggin

YEAS: Commissioner King, Commissioner Riggin, President Henry

BID OPENING FOR BRIDGE #86 REPLACEMENT

Mr. John Brooke, Commissioner Attorney, said one bid was received from Hoosier Pride, Springport, Indiana. This is for bridge #86 replacement over 650 east/Campbell Creek. Bid is \$651,521.29.

MOTION: Commissioner Riggin made a motion to take bid under advisement.

SECOND: Commissioner King

YEAS: Commissioner King, Commissioner Riggin, President Henry

Schedule Of Pay Items Delnware County Bridge No. 86 - CR 650 E over Campbell Creek

Project #:	00086		
Bid Date:	6/15/2023		
Hoosier Pride E	xcavating, Inc.		
Unit Price:	BID Amount		
\$11,000.00	\$11,000		

-	ENGINEER'S ESTIM	ATE	Supplied Color			Hoosier Pride E	xcavating, Inc.
Item No:	Item Description:	Quantity	Unit:	Unit Price:	BID Amount:	Unit Price:	BID Amount:
1	CONSTRUCTION ENGINEERING	1	L.S.	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.0
3	MOBILIZATION AND DEMOBILIZATION	1	L.S.	\$50,000.00	\$50,000,00	\$30,000.00	\$30,000.0
4	CLEARING RIGHT OF WAY	1	L.S.	\$10,000.00	\$10,000.00	\$16,500.00	\$16,500.0
5	PRESENT STRUCTURE, REMOVE	1	L.S.	\$60,000.00	\$60,000.00	\$25,000.00	\$25,000.0
6	EXCAVATION, COMMON TEMPORARY MULCH	180	C.Y.	\$97.33	\$17,519.40	\$65,00	\$11,700.0
7	TEMPORARY SILT FENCE	1000	TON	\$425.00	\$425.00	\$1,200.00	\$1,200.0
8	NO. 2 STONE		L.F.	\$2,15	\$2,150.00	\$2.00	\$2,000.0
9	TEMPORARY GEOTEXTILE	150 235	TON	\$3.00 \$2.75	\$450.00	562.00	\$9,300.0
10	TEMPORARY SEED MIXTURE	56	S.Y.	\$2.75	\$646.25 \$154.00	\$4.00 \$12.00	\$940.0
11	EXCAVATION, FOUNDATION, UNCLASSIFIED	15	C.Y.	\$188.95	\$2,834,25		\$672.0
12	COFFERDAM	13	L.S.	\$40,000.00	540.000.00	\$65.00	\$975.0 \$15,000.0
13	SUBGRADE TREATMENT, TYPE IC	128	S.Y.	\$71.56	\$9,159.68	\$15,000.00	
14	STRUCTURE BACKFILL, TYPE 4	14	C.Y.	\$276,36	\$3,869,04	\$200.00	\$5,120.0
15	GEOTEXTILE FOR PAVEMENT TYPE 2B	128	S.Y.	59.44	\$1,208.32	\$10.00	\$1,280.0
16	SUBBASE FOR PCCP	32	C.Y.	\$150,00	\$4,800,00	\$125.00	\$1,280.0
17	COMPACTED AGGREGATE NO. 53	29	TON	\$99.60	\$2,888,40	\$150,00	\$4,350.0
18	MILLING, TRANSITION	321	S.Y.	\$20.00	\$6,420.00	\$130,00	\$4,350.0
19	HMA Surface, Type B, 9,5mm	27	TON	\$306.21	\$8,267.67	S525.00	\$14,175.0
20	JOINT ADHESIVE, SURFACE	132	L.F.	\$11.08	\$1,462.56	\$0.15	\$14,175.0
21	LIQUID ASPHALT SEALANT	132	L.F.	\$3.26	\$430.32	\$0.50	\$66.0
22	ASPHALT FOR TACK COAT	321	S.Y.	\$2.58	\$828.18	\$0.55	\$176.5
23	GUARDRAIL, REMOVE	210	L.F.	\$10.31	\$2,165,10	\$18.00	\$3,780.0
24	GUARDRAIL, RESET	50	L.F.	\$119.45	\$5,972.50	\$22.00	\$1,100,0
25	HAND DIG GUARDRAIL POST HOLES	20	EACH	\$137.86	\$2,757.20	\$275.00	\$5,500.0
26	GUARDRAIL MGS W-DEAM, 6 FT 3 IN, SPACING	38	L.F.	\$40.92	\$1,554.96	\$32,70	\$1,242.0
27	GUARDRAIL, MGS, HEIGHT TRANSITION	1	EACH	\$1,640.00	\$1,640.00	\$1,310.00	\$1,310.0
28	GUARDRAIL, MGS, TRANSITION WITHOUT CURB	4	EACH	\$3,850.00	\$15,400.00	\$3,553,00	\$14,212.0
29	GUARDRAIL, END TREATMENT, OS	3	EACH	\$3,400.00	\$10,200.00	\$3,250,00	\$9,750.0
30	BARRIER, DELINEATOR	2	EACH	\$55.73	\$111.46	\$50.00	\$100.0
31	REINFORCED CONCRETE BRIDGE APPROACH, 10 IN.	128	S.Y.	\$180.83	\$23,146.24	\$140.00	\$17,920,0
32	RIPRAP, CLASS 1	44	TON	\$140.35	\$6,175.40	\$85,00	\$3,740,0
33	RIPRAP, REVETMENT	88	TON	\$131.04	\$11,531.52	\$50.00	\$4,400.0
34	GEOTEXTILE FOR RIPRAP TYPE IA	176	S.Y.	\$7.51	\$1,321.76	\$4.00	\$704.0
35	MOBILIZATION AND DEMOBILIZATION FOR SEEDING	1	EACH	S515.45	\$515.45	\$400.00	\$400.0
36	MULCHED SEEDING R	1210	S.Y.	\$3.32	\$4,017.20	\$2.75	\$3,327.5
37	TEST PILE, INDICATOR, PRODUCTION	242	L.F.	\$100.13	\$24,231.46	\$86.25	\$20,872.5
38	TEST PILE, INDICATOR, RESTRIKE	4	EACH	\$2,752.41	\$11,009.64	\$750.00	\$3,000.0
39	PILE, STEEL PIPE, 0.312 IN., 14 IN.	806	L.F.	\$97.85	\$78,867.10	\$86.25	\$69,517.5
40	PILE, STEEL PIPE, EPOXY COATED, 0.312 IN., 14 IN.	110	L.F.	\$173,28	\$19,060.80	\$160,00	\$17,600.0
41	CONICAL PILE TIP, 14 IN.	22	EACH	\$421.14	\$9,265.08	\$350,00	\$7,700.0
42	REINFORCING BARS, EPOXY COATED	53663	LBS	\$1.82	\$97,666.66	\$1,58	\$84,787.5
43	THREADED TIE BAR ASSEMBLY, EPOXY COATED	32	EACH	\$52.75	\$1,688,00	\$45.00	\$1,440.0
44	CONCRETE, C. SUPERSTRUCTURE	146.6	C.Y.	\$1,600.00	\$234,560,00	\$1,100,00	\$161,700.0
45	CONCRETE BRIDGE RAILING TRANSITION, TPF-1	4	EACH	\$5,608.33	\$22,433.32	\$3,300.00	\$13,200.0
46	RAILING, CONCRETE PF-1	88	L.F.	\$196.71	\$17,310.48	\$110.00	\$9,680.0
47	RAILING, STEEL PF-1	104	L.F.	\$100.93	\$10,496.72	\$126.45	\$13,150,8
49	SURFACE SEAL	1	L.S.	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.0
49	ROAD CLOSURE SIGN ASSEMBLY	6	EACH	\$313.99	\$1,883.94	\$200.00	\$1,200,0
50	DETOUR ROUTE MARKER ASSEMBLY	24	EACH	\$152.50	\$3,660.00	\$95.00	\$2,280.0
51	CONSTRUCTION SIGN. A	8	EACH	\$250.00	\$2,000.00	\$200.00	\$1,600.0
52	CONSTRUCTION SIGN. B	8	EACH	\$97.00	\$776.00	\$100.00	\$800.0
53	MAINTAINING TRAFFIC	1	L.S.	\$50,000.00	\$50,000,00	\$7,000,00	\$7,000.0
54	BARRICADE, III-A	48	L.F.	\$14.15	\$679.20	\$20,00	\$960.0
55	BARRICADE, III-B	40	L.F.	\$18.77	\$750.80	\$20.00	\$800.0
56	SIGN, SHEET, REMOVE	6	EACH	\$96.93	\$581.58	\$50.00	\$300.0
57	SIGN GROUND MOUNTED RESET	1	EACH	\$412.16	\$412.16	\$300.00	\$300.0
58	LINE, PAINT, BROKEN, YELLOW, 4 IN.	63	L.F.	\$3.65	\$229.95	\$1.50	\$94.5
		500	L.F.	\$2.43	\$1,215.00		\$1,000,0
59	LINE, PAINT, SOLID, WHITE, 4 IN.						
	LINE, PAINT, SOLID, WHITE, 4 IN.	300		52.4.1	31,213.00	\$2.00	\$1,000,0
	LINE, PAINT, SOLID, WHITE, 4 IN.	300		52.43	31,213.00	\$2.00	\$1.000.0

\$269,278.46 Notes:

For Red Quantity, contractor used 147 CYS while we used 146 6 CYS causing a small discrupancy Orange Quantities are quantities that are more than 2007/ higher than the Contractor Did Price The Difference Column is the Engineer's Estimate minus the Contractor Bid Price of high discrepancy items

Mr. Brooke, presented an engagement letter from Baker Tilly for providing services for Cumulative Capital Development Fund, Revenue Anticipation and EDIT Work. Mr. Brooke said it is mostly for the Cumulative Capital Development Fund.

MOTION: Commissioner King made a motion to approve Baker Tilly engagement letter.

SECOND: Commissioner Riggin

YEAS: Commissioner King, Commissioner Riggin, President Henry

SCOPE APPENDIX to
Engagement Letter dated: March 18, 2021
Between Delaware County and
Baker Tilly Municipal Advisors, LLC

COMPENSATION AND INVOICING

Fees for services set forth above, will be billed at BTMA's standard billing rates based upon the actual time and expenses incurred.

Standard Hourly Rates by Job Classification 1/1/2023

Partners / Principals / Directors	\$295.00	to	\$525.00
Managers	\$235.00	to	\$340.00
Consultants / Analysts	\$160.00	to	\$235.00
Support / Paraprofessional	\$115.00	to	\$175.00
Interns	\$110.00	to	\$145.00

Billing rates are subject to change periodically due to changing requirements and economic conditions. Baker Tilly will notify Client thirty (30) days in advance of any change to fees. If Client does not dispute such change in fees within that thirty (30) day period, Client will be deemed to have accepted such change. The fees billed will be the fees in place at the time services are provided. Actual fees will be based upon experience of the staff assigned and the complexity of the engagement.

BILLING PROCEDURES

Normally, you will receive a monthly statement showing fees and costs incurred in the prior month. Occasionally, we may bill on a less frequent basis if the time involved in the prior month was minimal or if arrangements are made for the payment of fees from bond proceeds. The account balance is due and payable on receipt of the statement.

Nonattest Services

As part of this engagement, we will perform certain nonattest services. For purposes of the Engagement Letter and this Scope Appendix, nonattest services include services that the Government Auditing Standards refers to as nonaudit services.

We will not perform any management functions or make management decisions on your behalf with respect to any nonattest services we provide.

In connection with our performance of any nonattest services, you agree that you will:

- Continue to make all management decisions and perform all management functions, including approving all journal entries and general ledger classifications when they are submitted to you.
- Designate an employee with suitable skill, knowledge, and/or experience, preferably within senior management, to oversee the services we perform.
- > Evaluate the adequacy and results of the nonattest services we perform.
- > Accept responsibility for the results of our nonattest services.
- > Establish and maintain internal controls, including monitoring ongoing activities related to the

6 bakertilly

(Scopev20201214)

Page SA 2 | 3

SCOPE APPENDIX to Engagement Letter dated: March 18, 2021 Between Delaware County and Baker Tilly Municipal Advisors, LLC

RE: Proposed Financial Advisory and Accounting Services – Establish a Cumulative Capital Development ("CCD")

DATE: June 20, 2023

This Scope Appendix is attached by reference to the above-named engagement letter (the "Engagement Letter") between Delaware County (the "Client") and Baker Tilly Municipal Advisors, LLC.

SCOPE OF WORK

Baker Tilly Municipal Advisors ("BTMA") will perform the following services:

The Client anticipates the need to retain the services of BTMA to serve as Financial Consultants to the Client. The Client desires to retain BTMA on an as-needed basis throughout the term of this agreement and anticipates the services to be for establishing a Cumulative Capital Development Fund.

The following services are available to the Client In whole or in part at the direction of the Council, Commissioners, or other appointed Client representative.

A. Establish a Cumulative Capital Development ("CCD") Fund (Consulting Services)

- 1. Develop a timeline for the steps required to establish a Cumulative Capital Development Fund.
- Assist the Client with preparation of State-required documents including the notice to taxpayers and establishing ordinance.
- Develop revenue estimates from the established or reestablished property tax rate and property tax liability impact calculations, as requested.
- Attend a Council meeting to discuss the establishing process and the estimated revenues to be generated from the tax rate.
- 5. Assist the Client to monitor completion of required steps of the process.
- Review the Cumulative Capital Development Fund tax rate in Gateway during the annual budget process.



(Scopev20201214)

Page SA 1 | 3

SCOPE APPENDIX to Engagement Letter dated: March 18, 2021 Between Delaware County and Baker Tilly Municipal Advisors, LLC

Conflicts of Interest

Attachment A to the Engagement Letter contains important disclosure information that is applicable to this Scope Appendix.

We are unaware of any additional conflicts of interest related to this Scope Appendix that exist at this time.

Termination

This Scope Appendix will terminate according to the terms of the Engagement Letter.

If this Scope Appendix is acceptable, please sign below and return one copy to us for our files. We look forward to working with you on this important project.

Sincerely,

Paige C. Sansone Paige E. Sansone, Partner

Signature Section:

The services and terms as set forth in this Scope Appendix are agreed to on behalf of the Client by:

Date: 6/20/2028

6 bakertilly

(Scopov20201214)

Page SA 3 | 3

AMERICAN RESCUE PLAN 5th REVISED PLAN

Mr. Brooke presented the 5th revised ARP Plan. Mr. Brooke said due to the changing needs of the county, ARP money has been moved around. Some projects have been completed or no longer needed and taken out of the plan. Money was added to Selma stormwater plan, water project in Eaton, the Oakville plan was removed and money increased for the mental health facility. This moves the money around so that it revenue replacement of \$1.7 million dollars.

MOTION: Commissioner King made a motion to approve the 5th revised ARP Plan.

SECOND: Commissioner Riggin

YEAS: Commissioner King, Commissioner Riggin, President Henry

American Rescue Plan can be found at www.co.delaware.in.us

DIRECT STRUCTURES

Mr. Brooke presented the Direct Structure agreement for signature. This is for the 26x24 structure being built at the Delaware County Fairgrounds. Direct Structure is donating the building to the fairgrounds.

MOTION: Commissioner Riggin made a motion to approve Direct Structures contract.

SECOND: Commissioner King

YEAS: Commissioner King, Commissioner Riggin, President Henry

The full contract is located in the Auditor's office

AGREEMENT BETWEEN OWNER AND CONTRACTOR

This Agreement is made this 2 day of 1000, 2023, by and between the Board of County Commissioners of Delaware County, Indiana ("Owner") and Direct Structures, Inc. ("Contractor"), for the project known as 24'x26' Garage (the "Project"). Owner and Contractor agree as set forth below:

- 1. THE WORK. The intent of the Agreement is to provide for the construction and completion in every detail of the work described. Contractor shall provide all materials, labor, tools, equipment, supplies, safety equipment, transportation and supervision necessary to perform, and shall perform, the work generally described as follows, in a good and workmanlike manner and in accordance with the Contract Documents (as hereinafter defined) as necessary to produce the results intended by the Contract Documents (all hereinafter called the "Work"):
 - A. SUPERVISION AND CONSTRUCTION PROCEDURES. Contractor shall supervise and direct the Work using Contractor's best skill and attention. Contractor shall be solely responsible for and have control over construction means, methods, techniques, sequences and procedures and for coordinating all portions of the Work. Contractor shall be responsible to Owner for the acts and omissions of Contractor's employees, subcontractors, material suppliers, laborers, equipment lesser and all other persons performing portions of the Work. Contractor shall be responsible for the inspection of Work performed under the Contract Documents to determine that the Work is in proper condition to receive subsequent Work.
 - B. LABOR AND MATERIALS. Contractor shall provide and pay for all labor, materials, equipment, tools, construction equipment and machinery, water, utilities, transportation, and other facilities and services necessary for the proper execution and completion of the Work, whether temporary or permanent and whether or not incorporated or to be incorporated in the Work.
 - C. SUBCONTRACTORS. Before construction commences, Contractor shall furnish in writing to Owner the names of all persons or entities proposed for each principal portion of the Work and their respective contract sums. Contractor shall not contract with a proposed person or entity to whom Owner has made a reasonable objection. Contractor shall not change a subcontractor, person or entity previously selected if Owner makes reasonable objection to such change. By appropriate agreement, Contractor shall require each subcontractor, to the extent of the Work to be performed by the subcontractor, to be bound to Contractor by the terms of the Contract Documents, and to assume toward Contractor all the obligations and responsibilities which Contractor, by the Contract Documents, assumes toward Owner. Each subcontract shall preserve and protect the rights of Owner under the Contract Documents with respect to the Work to be performed by the subcontractor so that subcontracting thereof will not prejudice such rights. Contractor shall make available to each proposed subcontractor, prior to the execution of the subcontract, copies of the Contract Documents to which the subcontractor will be bound. Each subcontract for a portion of the Work is contingently assigned by Contractor to Owner;

DEPARTMENT HEADS AND ELECTED OFFICIALS

Mr. John Coutinho, EMA Director and Mr. Fred Cummings, 911 Director, provided a detail of all updates made within their areas. Through ARP money, budget money and grants, \$202,539.70 was spent on much needed updates.

Mr. Jeff Stanley, Chief Deputy, said Mr. Tony Skinner, Delaware County Sheriff, is working on the federal inmate project and it should be signed soon. Once it is signed, they are in hopes of having inmates in the facility by July 1, 2023.

Commissioner King said he received an email from Grant County requesting to house inmates at Delaware County. This would generate \$1.2 million to the county, \$52 per inmate, per day.

Chief Stanley said that is correct, Captain Jeremy Dye and Sheriff Skinner spoke to Grant County, but at this time they are hesitant to bring in Grant County because potentially the county will house 40-50 *federal* inmates. Chief Stanley agrees with Commissioner King and does not want to lose the \$1.2 million from Grant County either. Sheriff Skinner is not saying no, but waiting regarding the federal inmate project. The federal contract is \$60 per inmate. The hang up to getting the federal agreement signed was regarding medication.

Mr. Steve Foster, Building Superintendent, asked if two quotes would be needed for repairs of the Justice Center building. An employee ran into the building at the Justice Center.

Ms. Sara Hodges, Executive Assistant, said the deductible was going to be very high so it cannot be turned into insurance.

President Henry said it was a county vehicle, hitting the county Justice Center and the deductible was going to be \$50,000.

Mr. Foster asked about the roof situation. One bid he received was \$270,000.

Mr. Brooke said he is working on specifications on the building. There was not sufficient money left for this project.

President Henry asked that Mr. Foster wait regarding the roof at this time.

Commissioner Henry asked Mr. Brooke what would be needed to make dorms/beds at the pool area at the Justice Center.

Mr. Brooke said an engineer would need to secure the plan and drawings, based on Correctional Association guidelines (12,000 square ft. and high ceiling). Mr. Brooke said it would probably need to bid out, due to the cost being approximately \$150,000. Plans, specifications and then bid it out.

President Henry asked if the engineers had the initial plans on this.

Mr. Brooke said they had plans to use this area as a treatment center but didn't because of the cost.

Commissioners meeting held June 20, 2023

Commissioner King is interested in seeing the cost to have it build out and how much could be generated.

President King and Commissioner Riggin agreed.

WEEKLY, MONTHLY AND QUARTERLY REPORTS

PAYMENT OF CLAIMS

MOTION: Commissioner Riggin made a motion to approve claims in the amount of \$3,489,294.51 and ARP claims in the

amount of \$307,598.03. SECOND: Commissioner King

YEAS: Commissioner King, Commissioner Riggin, President Henry

PUBLIC COMMENTS, QUESTIONS, OTHER BUSINESS & DISCUSSION None

RECESS

MOTION: Commissioner Riggin made a motion to recess until July 3, 2023.

SECOND: Commissioner King

YEAS: Commissioner King, Commissioner Riggin, President Henry

President, Mr. Shannon Henry

Vice President, Mr. James King

Member, Ms. Sherry Riggin

Auditor, Mr. Ed Carroll